=

% 247t oba 2L

oo

© -3 @ 245
® 4.010101--- @ 3.762
@0.1010010001 e

0.1010010001 - - - 2 WIE-E|= JL7to] gl=
24r B8 gebd 4 gl

rr

%




rlet
d
=)
ful
il
us)
=)
[
)
£
rel
s
N
rlo
D

0e % e

® 0.818181--- = 18 @ 0.23434343 ... =234
@ 1.212121--- =212 (@)34.34434343'-- =43

® 120.080808--- =8

~&B

@ 0.818181 --- 2 81 o] HZo] Hr},

@ 0.23434343--- 2 34 7} 5| 20] "H}.
® 1.212121--- 2 21 o] E=o] Hr},

@ 34.34434343 - - - 2 43 o] EZo] Hr}.
® 120.080808 - - - = 08 ©] E|&o] Hr},




O3 5 &SAFo 3902 $2 A8 BF I12H?
@D 0.30404--- = 0.304 @1.203203--- =1.203
® 2.2020--- = 2.202 @ 0.44141--- = 0.441

@1.477--' =147




ol
XS
olJ
o8




a=2 b=19c=200°lgt &, q b, cAo]o] TAZ &2
Ae?
D a=c>b @ c>a>b ®a=b<c
@ a>c>b (@)azb:c
19-1 1 . 20-2 1




@ x14 @ x16 @x18 @ x20

@ x2

23X2 5 X3 — 16 5 12 _ |18

(x3)2 X (x4)3




@ x12y8 @ x8y12 @ )C14y16




AL BT 12H?

Mo

]

@2 X4x8=2°
C@?ﬂ+32+32 =3’

® (-2)° =2

@ 122=2'x3

@27+ (-2 + (-2p =2

® (-2)* =20, @122 = (22 x 3)? =24 x 3




9.




5 5] oY
@ 9b 3 12b @ 24b C@)m
3\? 27
_ 4 2
b) bix o3 =2Tb




11. 7tz9] Aot (2a)* , 017} 5ab , 2= A 9] F1]7} 80a°h & W],
Alz o] dol&?

@2ab @ 20ab ® 8ab @ 2a%b ® 8a?b

B |

(2a)® x (M 22] Zo]) x 5ab = 80a°b>

(Al22] Zo]) = 80a°h? + (2a)* + 5ab
= 80a°h? + 8a® + 5ab
= 2ab




12. &5 olA4o] obd 28 B mEm?

1 1
@D 4-4x - 4x? @1—|———|——2

X X
® 2(x? - x) @ 1-2

(@)2(1 - 2x?) = (x — 4x?)

2(1-22%) - (x-4x%) =2-4x —x+ 42 =2-x




— [ ={2x -5 (x+3)} - 3x7]

® -2x2-x+8 @2x2+x—8 ® 2x2-3x-2

@ -4x*-3x-2 ® —-4x*>-3x-8

&8

(FA) =-{#* - (2x-5-x-3) - 3x%}
=—{x? - (x-8) - 3x?}
:—(x2—x+8—3x2)

- (-2%% - x + 8)

=222 +x-38




14.

(24 3x)(-2x) & FHo] stla o, »2 9 A=

@6 @-1 G0 @ 1

?

2 X (=2x) + 3x X (=2x) = —4x — 6x2
webA] 12 o] A —golch




15. (x-y)(x+y+2)E H7HstH?

O x%2-y?—-2x-2y @ x?-y?—x-2y
@)y +2x-2 @ 24y fx-y

® xX2+y*+2x+2y

XXXF+xXy+xX24+ (=y) Xx+ (=y) Xy + (=y) X2
=x2+xy+2x—xy—y* -2y
=x?-y* +2x-2y




